EARAROBEEIERT — 2 N— IBISH —F

20145F4/1H (X) 1H£R1B

lc2-7 c27 v5%—m

EEE R

[A~&E£] 1 7% :160,000 @ ~ 23%&:32,000H  33%&:14,000H ~ 43%&:11,000 ™ 57 :6,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N 4 | BRHE 1:40.5 1-1-1-1 [39.9| — 3 438 | FEF (£R)
132757 " 54.0 =) 45 | B Tr—ZbEVa
R:77NT5Y BL—RIZAMLZX =Eizie]
: 4t 4 | JIIRPABL 1:40.5 6-5-4-4 |38.9| — 4 474 | FEF (£R)
22| 7TFI7L—2 54.0 (nt) o) | PEH—
R:V2RYZYRAIR BEZRMN)TRXZY LS
4 6 | BUIES 1:40.9 3-3-3-3 [39.9| — 1 444 | BAREH (£R)
3|7 7| ZPATFIELT 54.0 ) 4s) | B Tr—ZbEva
RO—VXA AL BZY /Y FEA EvdlLy RTr—14
S, 9 = 4 | MFEEt 1:41.4 2-2-1-2 | 40.7| - 2 399 | FILFEEA (£R)
4155 JL>RK)—=7TF s 5?.0 (2 1/2) (-6) ﬁ(’ﬁ) F—XFT
R:8yTELRYF— B:TLPRY—I—2 [intie)
—:a N RS 143 —6-6- . — HILEEA (£2R)
5189 T rheX/FIT o4 54?0 (19‘?1:) 5666 | 41.2 ! (3520) E(E) =247
LY IYFLIY BiA heX BAYS
o= o4 | HEHESR 1:43.7 4-4-5-5 |42.0| — 5 449 | BB (£R)
61111 TRIYGFNRT 56.0 (1 1/2) (-3) () A—=2457
Rixfavhnayy B:Y—I>TLR RS
= 44 | MHEHK 1:44.3 7-7-8-7 | 41.4| — 6 450 | HARR (£R)
7 6| AV—7I=v VX 56.0 ®) c13) | ) Tr—2bEVaz
RZAZHNT1Zv X B:ZA)—-4h—7 iRk
AR BREBAHE : =777 — HtEg—t (£R)
alglg|/s1>%oEx it 6 e 1.(424).7 7-7-7-8 | 41.8 8 :113) e
RIT7IIxL BiXvyFvA457 BHHE
R 411 | BAK— 1:45.0 9-9-9-9 |41.5| — 9 477 | EH—R (&R)
9 4 1H/JLAT 56.0 (1 1/2) (-1) | REE
LIV IS4 T BAA/ 7TZ— B fE—
® I—F—@EBIERL
13—4— 3,5,7,1,9,2,(6,8) ,4
20—+— |[3,5,7,1,2,9,(6,8) ,4
3T—7— (3,5),7,2,1,9,8,6,4
43—+ — 3,5,7,2,1,9,6,8,4
[ N5
B 3 360M 794K 2-3 210 & 2-3 1,350 &R 2-3-7 420M
# B 3 1304 3-7 140H B 3-2 2,060 EE 3-2-7 4,340
2 130M 2-7 170H B = 2-3 1,000
7 110/ B H 3-2 2,010

ABICOVWTRDTEEERROODE. TR LIV,




